Ableitungen
Potenzregel: f(x)=x" = £(x)=n-x""

a ~ b
Weitere Regeln, die man 6fter braucht: o° =a-b™und x" = xa

f(x) = f(x) = P(x) = P(x) =

f(x)=3

f(x)=x

f (x) = 2x

f(X)=2x+2

f(X) = x?

f(x) =3x2

f(x) =3x2+3

f (X) =3x2+ 2x

f(x):%x2—5x+2

f(x)=x"
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Weitere Regeln, die man 6fter braucht:

Ableitungen
Potenzregel: f(x)=x" = £(x)=n-x""

a - b
—=a-b"und W=Xa

bC
f(x) = f(x) = £(x) = £(x) =
f(x)=3 - f'(x)=0
f(x)=x - f'(x)=1
f (X) =2x f'(x)=2
F(X) = 2X+2 F(x)=2+0=2
f (x) = x2 f'(x)=2x
f (x) = 3x2 f'(x) =6x
f(x)=3x2+3 f'(x) =6x
f(X) = 3x%+ 2X f'(X)=6X+2
1
f(x):5x2—5x+2 f'(X)=x-5
£ = X - F(x) = —2x7 (=5
f00="1 f(x)=x f'(x)=-2x7 JORE
f(x)=% f(x)=3x" f'(x) = —9x* f0=—7%
f(x):x—+2x2 f(x):2x‘3+2x2 f'(x) =—-6x"* +4x f'(X) =—— +4x
: ()= Lyt (x)= 1
f(x)=+/x f(x)=x" F10) =2 x Fe)=_7
F)=3x° | fF()=x° =X f'(x) = 2x
2 2 1 ' 2 2
3 ' = — 3 f = T
f(x)=3x? F(X) = X fr0=5x M= TTwk
1 1 , 1 ) L
f(x)=ﬁ f(x)=x f(x):—Ex F(x) e
f00=— F=2xF | f(=-x? | F0=xi=—0g
f00=— f(x)=2x" f'(X)=—2x2 f00=-2
1 2 , 2 - o 2 __ 2
f(x):W f(x)=x"° f(x):—gx (%) NERRY




